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No BT REH HEDIELE trL-134 tr5 L-137 AEE
Bqg. kg Ba. kg Ba kg
1 REH R5.10.6 FEARLW=IT(HEE%) BREE9(<41) 407 4.1
2 FEH R5.10.6 [RARLULM =T (FEER BREE9(<5.1) BRHEE9(<5.3) BRHEEY
3 FEH R5.10.6 FEARLW=T(HEE%) BRHEE9(<3.5) 11.7 12
4 Zth R5.10.4 BEERLULM=F (FBE% BREE9(<48) BHE3(<5.0) BREed
5 At R5.10.4 BERLW=1F (%) BREE9(<4.0) BRHEE9(<3.7) - danhcac
6 Zth R5.10.6 BEERLULM=F (FBE% BREE9(<4.2) BRHE9(<3.0) BREed
7 WhET R5.10.6 BERLW=1F (%) BREE9(<4.0) BRHEE9(<3.8) BT
8 WhET R5.10.6 BRSO (FEER) BRHET(<4.0) BRHET(<28) BRHEET
9 IEHT R5.10.6 BRGSO (FEER) BRHEE9(<4.6) BRHEE9(<2.8) BT
10 I5HT R5.10.6 BRSO (FEER) BRHET(<3.4) BRHE9(<3.9) BRHEET
11 WhEt R5.10.6 I X (MeE% BREE9(<6.1) BRHEE9(<4.9) - daskcac
12 T 4ERET R5.10.6 FRARZE =T (Eih) BREEI(<47) BRHET(<L3.1) BRHEET
13 T $ERET R5.10.6 [RAREW=T(EHh) BREE9(<4.0) B®RHE97(<3.6) - daskcac
14 T 4ERET R5.10.6 FRARZE =T (Eih) BREE3(<4.9) BRHE9(<3.0) BRHEET
15 T $ERET R5.10.6 [RARE=T(EHh) BREE9(<54) BRHEE9(<3.2) BrEed
16 E=3 =) R5.10.5 BERZEV =T GEER) BRHET(<4.0) BRHEY(<3.9) BRHEET
17 ISHT R5.10.6 BHEROS=1T (EE% BREE9(<43) BRHEE97(<3.3) BrEed




BREHR

No BT REH REDIELE t 134 3 L-137 BEIE
Bag. kg Ba. kg Ba kg

18 WhE™ R5.10.6 BERSIT OB (FEER) BRHET(<4.2) BRHEY(<3.8) BRHEET

19 =] R5.10.6 TR (HRHE) BREE9(<2.3) 15.9 16

20 e 30) R5.10.6 N AS (BEE) BRHEE3(<4.0) BREET(<3.4) BRHEET

21 FASiERT R5.10.6 INRI S AD (R BHE9(<6.0) BRHEE3(<4.4) BRHEEY

22 MR R5.10.6 INTATF(ERE) BRHET(<11) 12.1 12
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